BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LIA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

BIDDER NAME	BASE BID	ALTERNATE NO. 1 PLUS BASE BID	PROPOSED DURATION (DAYS)	Cit
1) NORTH HOUSTON TANDEM, INC.	\$836,347.30	\$1,037,186.80	60 \ 75	
2) RALLY CONSTRUCTION, INC.	\$1,019,025.35	\$1,217,385.35	60 \ 75	
3) CROSTEX CONSTRUCTION INC.	\$1,100,000.00	\$1,318,196.00	60 \ 75	01
4) GREATER HOUSTON CONSTRUCTION	\$1,113,079.50	\$1,311,439.50	60 \ 75	
5) DC CONTRACTING SERVICES, LLC	\$1,124,779.00	\$1,342,975.00	55 \ 70	
6) CLEARX, LLC	\$1,447,720.39	\$1,738,912.87	60 \ 75	
State OF TEL	En	gine		



I, Hannah J. Horsfield , P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LJA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

			Γ	1) NORTH HOUST	TON TANDEM, INC.	2) RALLY CONS	FRUCTION, INC.	3) CROSTEX CON	ISTRUCTION INC.	4) GREATER HOUS	TON CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	INAGE FACILITIES ITEMS - NORTHERN POND VATION OF OUTFALL WEIR, INCLUDES ONSITE DISPOSAL, COMPLETE ACE	СҮ	5839	\$4.60	\$26,859.40	\$6.00	\$35,034.00	\$8.00	\$46,712.00	\$15.00	\$87,585.00
	CP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$148.30	\$21,800.10	\$150.00	\$22,050.00	\$162.00	\$23,814.00	\$244.00	\$35,868.00
	FORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN E	EA	1	\$7,458.00	\$7,458.00	\$8,000.00	\$8,000.00	\$5,500.00	\$5,500.00	\$8,200.00	\$8,200.00
	INFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL JND, COMPLETE IN PLACE	SY	3935	\$85.00	\$334,475.00	\$110.00	\$432,850.00	\$125.00	\$491,875.00	\$105.00	\$413,175.00
ACHI	IOMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO EVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY NEER), COMPLETE IN PLACE	AC	0.5	\$5,750.00	\$2,875.00	\$3,500.00	\$1,750.00	\$5,000.00	\$2,500.00	\$4,200.00	\$2,100.00
	ATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL , ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$20.00	\$2,940.00	\$20.00	\$2,940.00	\$20.00	\$2,940.00	\$42.00	\$6,174.00
UNSA	TIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR ITISFACTORY SOIL CONDITIONS, ALL SIZES AND DEPTHS, (TO BE I ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE ACE	LF	147	\$15.00	\$2,205.00	\$15.00	\$2,205.00	\$15.00	\$2,205.00	\$15.00	\$2,205.00
INCLU COM 8" LIF	TY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, JDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND PACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM TS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, PLETE IN PLACE	СҮ	118	\$23.85	\$2,814.30	\$5.00	\$590.00	\$8.00	\$944.00	\$18.00	\$2,124.00
	CH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, PLETE IN PLACE	LF	147	\$18.35	\$2,697.45	\$10.00	\$1,470.00	\$2.00	\$294.00	\$25.00	\$3,675.00
CONS	STRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE STRUCTION OF STORM SEWER OUTFALL USING EXCAVATED RIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS CTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$12,292.00	\$12,292.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
SUBTOTAL BA	SE BID DRAINAGE FACILITIES ITEMS - NORTHERN POND			-	\$416,416.25	-	\$536,889.00	-	\$581,784.00	-	\$581,106.00
	INAGE FACILITIES ITEMS - SOUTHERN POND VATION OF OUTFALL WEIR, INCLUDES ONSITE DISPOSAL, COMPLETE ACE	СҮ	3879	\$4.80	\$18,619.20	\$6.00	\$23,274.00	\$8.00	\$31,032.00	\$15.00	\$58,185.00
	CP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$154.60	\$15,460.00	\$150.00	\$15,000.00	\$162.00	\$16,200.00	\$244.00	\$24,400.00
	FORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN E	EA	1	\$7,458.00	\$7,458.00	\$8,000.00	\$8,000.00	\$5,500.00	\$5,500.00	\$8,200.00	\$8,200.00
	INFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL JND, COMPLETE IN PLACE	SY	3269	\$85.10	\$278,191.90	\$110.00	\$359,590.00	\$125.00	\$408,625.00	\$105.00	\$343,245.00
ACHI	ROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO EVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY NEER), COMPLETE IN PLACE	AC	0.5	\$9,666.00	\$4,833.00	\$3,500.00	\$1,750.00	\$5,000.00	\$2,500.00	\$4,200.00	\$2,100.00
	ATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL , ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$42.00	\$4,200.00
UNSA	TIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR ITISFACTORY SOIL CONDITIONS, ALL SIZES AND DEPTHS, (TO BE ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE ACE	LF	100	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LJA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

NO. ITEM DESCRIPTION UNIT QTY 8. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE 100 9. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE LF 100 10. CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STOM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE EA 1 SUBTOTAL BASE BID DRAINAGE FACILITIES ITEMS - SOUTHERN POND EMILT STORE SUBTING AND ALL APPOLY EMILT SUBTING	1) NORTH HOUS	TON TANDEM, INC.	2) RALLY CONS	STRUCTION, INC.	3) CROSTEX CON	STRUCTION INC.	4) GREATER HOUSTO	IN CONSTRUCTION
INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE 9. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE 10. CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STOM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
COMPLETE IN PLACE 10. CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE EA 1 CONSTRUCTION OF STOM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	\$34.30	\$2,812.60	\$5.00	\$410.00	\$8.00	\$656.00	\$18.00	\$1,476.00
CONSTRUCTION OF STOM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	\$24.60	\$2,460.00	\$10.00	\$1,000.00	\$2.00	\$200.00	\$25.00	\$2,500.00
SUBTOTAL BASE BID DRAINAGE FACILITIES ITEMS - SOUTHERN POND	\$12,292.00	\$12,292.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
	A	\$345,626.70		\$442,524.00	eri	\$473,213.00	3 '	\$465,806.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LJA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

				1) NORTH HOUST	ON TANDEM, INC.	2) RALLY CONST	RUCTION, INC.	3) CROSTEX CONS	TRUCTION INC.	4) GREATER HOUST	ON CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1. EX	IISCELLANEOUS ITEMS TRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), IMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	-BUILT TOPOGRAPHIC SURVEY OF COMPLETED PROJECT, (BY LIA RVEYING, INC.), COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00
AC W	AINTENANCE OF GRASSED AREAS AS REQUIRED TO ESTABLISH AN CEPTABLE LAWN, 90% HOMOGENEOUS GRASS COVERAGE, INCLUDES ATERING, FERTILIZING, WEEDING, MOWING, AND EROSION REPAIR, IMPLETE IN PLACE	мо	3	\$9,153.00	\$27,459.00	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00	\$4,000.00	\$12,000.00
DR	EARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK (AGGING, AND OFFSITE DISPOSAL OF CLEARED AND GRUBBED ATERIAL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$13,283.00	\$13,283.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00
M	'E RESTORATION AND GENERAL GRADING OF DISTRUBED AREAS IN JSTANG BAYOU, INCLUDES REPAIRING EXISTING SIDE SLOPE, IMPLETE IN PLACE	LS	1	\$8,005.00	\$8,005.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00
AL FR	CY TRASH CONTAINER, CONTRACTOR TO REMOVE AND DISPOSE OF L EXISTING DEBRIS, INCLUDES TRASH AND MISCELLANEOUS DEBRIS OM PROPERTY, LOADING, HAULING OFF, ENVIRONMENTAL IMPLIANCE AND DISPOSAL, COMPLETE IN PLACE	EA	1	\$2,708.00	\$2,708.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
SUBTOTAL	BASE BID MISCELLANEOUS ITEMS			-	\$56,455.00	_	\$24,500.00		\$21,700.00	_	\$36,300.00
1. ST GE	WPPP ITEMS ORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES NERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$4,458.00	\$4,458.00	\$2,000.00	\$2,000.00	\$5,187.00	\$5,187.00	\$4,500.00	\$4,500.00
	STALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, MPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$4,200.00	\$4,200.00
	AINTAIN AND REMOVE EXISTING CONSTRUCTION EXIT, AND REGRADE EA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$1,750.00	\$1,750.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
	STALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE LT BARRIER FENCING), COMPLETE IN PLACE	LF	3029	\$3.15	\$9,541.35	\$2.15	\$6,512.35	\$4.00	\$12,116.00	\$5.50	\$16,659.50
	STALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER BRIC FENCE FOR V-BOTTOM DITCH, COMPLETE IN PLACE	EA	4	\$150.00	\$600.00	\$400.00	\$1,600.00	\$500.00	\$2,000.00	\$252.00	\$1,008.00
SUBTOTAL	BASE BID SWPPP ITEMS			-	\$17,849.35	-	\$15,112.35		\$23,303.00	-	\$29,867.50
1. EX TH	NO. 1 ALTERNATE NO. 1 TRA COST TO HAUL AND DISPOSE EXCAVATED MATERIAL , OUTSIDE E DEVELOPMENT IN A LEGAL MANNER, IN LIEU OF ONSITE, INCLUDES L PERMIT AND DISPOSAL FEES, COMPLETE IN PLACE	CY	9918	\$20.25	\$200,839.50	\$20.00	\$198,360.00	\$22.00	\$218,196.00	\$20.00	\$198,360.00
SUBTOTAL	ALTERNATE NO. 1 ALTERNATE NO. 1			-	\$200,839.50	-	\$198,360.00	-	\$218,196.00	-	\$198,360.00
BID SUMM	ARY										
BASE BID D	RAINAGE FACILITIES ITEMS - NORTHERN POND				\$416,416.25		\$536,889.00		\$581,784.00		\$581,106.00
BASE BID D	RAINAGE FACILITIES ITEMS - SOUTHERN POND				\$345,626.70		\$442,524.00		\$473,213.00		\$465,806.00
BASE BID N	ISCELLANEOUS ITEMS				\$56,455.00		\$24,500.00		\$21,700.00		\$36,300.00
BASE BID SI	NPPP ITEMS				\$17,849.35		\$15,112.35		\$23,303.00		\$29,867.50
	DUNT BASE BID				\$836,347.30		1019025.35		1100000.00		\$1,113,079.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LIA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

				1) NORTH HOUS	STON TANDEM, INC.	2) RALLY CON	STRUCTION, INC.	3) CROSTEX CC	INSTRUCTION INC.	4) GREATER HOUS	STON CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL

ALTERNATE NO. 1

TOTAL AMOUNT BASE BID	\$836,347.30	\$1,019,025.35	\$1,100,000.00	\$1,113,079.50
ALTERNATE NO. 1	\$200,839.50	\$198,360.00	\$218,196.00	\$198,360.00
TOTAL ALTERNATE NO. 1 PLUS BASE BID	1037186.80	1217385.35	1318196.00	1311439.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LUA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

			ſ	5) DC CONTRACT	ING SERVICES, LLC	6) CLEA	RX, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	D DRAINAGE FACILITIES ITEMS - NORTHERN POND . EXCAVATION OF OUTFALL WEIR, INCLUDES ONSITE DISPOSAL, COMPLETE IN PLACE	СҮ	5839	\$8.00	\$46,712.00	\$15.02	\$87,701.78
2	. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$283.00	\$41,601.00	\$252.00	\$37,044.00
3	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$9,365.00	\$9,365.00	\$8,505.60	\$8,505.60
4	. 6" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	3935	\$123.00	\$484,005.00	\$126.00	\$495,810.00
5	. HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	0.5	\$2,970.00	\$1,485.00	\$3,000.00	\$1,500.00
6	. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$20.00	\$2,940.00	\$40.51	\$5,954.97
7	: ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, ALL SIZES AND DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	147	\$15.00	\$2,205.00	\$16.36	\$37,044.00 \$8,505.60 \$495,810.00 \$1,500.00 \$5,954.97 \$2,404.92 \$848.42
8	. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	118	\$7.00	\$826.00	\$7.19	\$848.42
9	. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$3.00	\$441.00	\$0.36	\$52.92
10	. CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,250.00	\$5,250.00	\$109,800.00	\$109,800.00
SUBTO	TAL BASE BID DRAINAGE FACILITIES ITEMS - NORTHERN POND			-	\$594,830.00	_	\$749,622.61
	ID DRAINAGE FACILITIES ITEMS - SOUTHERN POND EXCAVATION OF OUTFALL WEIR, INCLUDES ONSITE DISPOSAL, COMPLETE IN PLACE	сү	3879	\$8.00	\$31,032.00	\$15.07	\$58,456.53
2	. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$283.00	\$28,300.00	\$252.00	\$25,200.00
3	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$9,365.00	\$9,365.00	\$8,792.40	\$8,792.40
4	. 6" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	3269	\$123.00	\$402,087.00	\$126.00	\$411,894.00
5	. HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	0.5	\$3,250.00	\$1,625.00	\$3,000.00	\$1,500.00
6	. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$40.51	\$4,051.00
7	. ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, ALL SIZES AND DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$15.00	\$1,500.00	\$16.36	\$1,636.00

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.		8 7 1 1 1	BRAZORIA COUNTY N	HE SPRINT POND TO SE IUNICIPAL UTILITY DIST T.J., BRAZORIA COUNT C.	RICT NO. 40			
		Γ	5) DC CONTRACT	ING SERVICES, LLC	6) CLEA	RX, LLC		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL		
 UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE 	СҮ	82	\$7.00	\$574.00	\$7.19	\$589.58		
9. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$3.00	\$300.00	\$0.36	\$36.00		
10. CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STOM SEWER OUTFALL USING EXCAVATED MATERIAL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,250.00	\$5,250.00	\$109,800.00	\$109,800.00		0,
SUBTOTAL BASE BID DRAINAGE FACILITIES ITEMS - SOUTHERN POND				\$482,033.00		\$621,955.51	erin	9,
			A	E				

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LJA ENGINEERING, INC. D. FORREST MAY 22, 2025 Z149-6118 (9.2)

		Γ	5) DC CONTRACT	ING SERVICES, LLC	6) CLEA	RX, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
BASE BID MISCELLANEOUS ITEMS 1. EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER COMPLETE IN PLACE), CY	100	\$20.00	\$2,000.00	\$21.82	\$2,182.00	
2. AS-BUILT TOPOGRAPHIC SURVEY OF COMPLETED PROJECT, (BY LIA SURVEYING, INC.), COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
 MAINTENANCE OF GRASSED AREAS AS REQUIRED TO ESTABLISH AN ACCEPTABLE LAWN, 90% HOMOGENEOUS GRASS COVERAGE, INCLUDES WATERING, FERTILIZING, WEEDING, MOWING, AND EROSION REPAIR, COMPLETE IN PLACE 	МО	3	\$2,889.00	\$8,667.00	\$7,916.40	\$23,749.20	ering, In
 CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGING, AND OFFSITE DISPOSAL OF CLEARED AND GRUBBED MATERIAL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	1	\$10,750.00	\$10,750.00	\$14,400.00	\$14,400.00	
 SITE RESTORATION AND GENERAL GRADING OF DISTRUBED AREAS IN MUSTANG BAYOU, INCLUDES REPAIRING EXISTING SIDE SLOPE, COMPLETE IN PLACE 	LS	1	\$8,747.00	\$8,747.00	\$14,051.47	\$14,051.47	ins.
6. 30 CY TRASH CONTAINER, CONTRACTOR TO REMOVE AND DISPOSE OF ALL EXISTING DEBRIS, INCLUDES TRASH AND MISCELLANEOUS DEBRIS FROM PROPERTY, LOADING, HAULING OFF, ENVIRONMENTAL COMPLIANCE AND DISPOSAL, COMPLETE IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$1,266.00	\$1,266.00	61.
SUBTOTAL BASE BID MISCELLANEOUS ITEMS			-	\$34,414.00	-	\$58,648.67	
BASE BID SWPPP ITEMS 1. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,224.00	\$2,224.00	\$3,000.00	\$3,000.00	
2. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$550.00	\$550.00	\$3,300.00	\$3,300.00	
3. MAINTAIN AND REMOVE EXISTING CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$3,750.00	\$3,750.00	\$3,300.00	\$3,300.00	
4. INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	3029	\$2.00	\$6,058.00	\$2.40	\$7,269.60	
5. INSTALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC FENCE FOR V-BOTTOM DITCH, COMPLETE IN PLACE	EA	4	\$230.00	\$920.00	\$156.00	\$624.00	
SUBTOTAL BASE BID SWPPP ITEMS			-	\$13,502.00	-	\$17,493.60	
ALTERNATE NO. 1 ALTERNATE NO. 1 1. EXTRA COST TO HAUL AND DISPOSE EXCAVATED MATERIAL , OUTSIDE THE DEVELOPMENT IN A LEGAL MANNER, IN LIEU OF ONSITE, INCLUDES ALL PERMIT AND DISPOSAL FEES, COMPLETE IN PLACE	CY	9918	\$22.00	\$218,196.00	\$29.36	\$291,192.48	
SUBTOTAL ALTERNATE NO. 1 ALTERNATE NO. 1			-	\$218,196.00	-	\$291,192.48	
BID SUMMARY							
BASE BID DRAINAGE FACILITIES ITEMS - NORTHERN POND				\$594,830.00		\$749,622.61	
BASE BID DRAINAGE FACILITIES ITEMS - SOUTHERN POND				\$482,033.00		\$621,955.51	
BASE BID MISCELLANEOUS ITEMS				\$34,414.00		\$58,648.67	
BASE BID SWPPP ITEMS				\$13,502.00		\$17,493.60	
TOTAL AMOUNT BASE BID				1124779.00		1447720.39	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE SPRINT POND TO SERVE POMONA BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 40 CITY OF PEARLAND E.T.J., BRAZORIA COUNTY, TEXAS MAY 22, 2025 LJA ENGINEERING, INC. D. FORREST MAY 22, 2025 2149-6118 (9.2)

				5) DC CONTRAC	TING SERVICES, LLC	6) CLE	ARX, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL

ALTERNATE NO. 1

			5) DC CONTRA	CTING SERVICES, LLC	6) CL	EARX, LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNATE NO. 1						
TOTAL AMOUNT BASE BID				\$1,124,779.00		\$1,447,720.39
ALTERNATE NO. 1				\$218,196.00		\$291,192.48
TOTAL ALTERNATE NO. 1 PLUS BASE BID				1342975.00		1738912.87
			SP			ne

FRN F-1386 LJA Engineering, Inc. O:\LAND\2149\2149-6118\5222025_Sprint Pond_Pomona_BT